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CONSUMETISI BUBGET CONSTRAINTg :

X = 4 + b G naumer ie(a , ) Problem

31 = 4 - (1 + r)b I max(4 + b)(4 - (1 + +)b]
bei

3c = 4 - (i + r)b
HENCE b

*

(r) = b
*
(r) : = b(r) ·

Market CEDRNS : OEbA (ny + b3(r) = 2b(r)()b(r) = 0
Hence Ce allocation is The INIMAL Endowments : [14 ,
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.



Price Normalization : PX = Pu = Pr = 1
.

CONSUMETISI BUBGET CONSTRAINTg :

X = 4 + b - qz

31 = 4 - (1 + r)b + z Il
3c = 4 - (i + r)b

CNAMER As PROBLEM : CNAMER B's PROBLEM :

Paso = 35 = 0 = br
, gl= PL30 = = 0 ==H

AND ZA SoLVes : DND zB ↓ LVes :

nex (4 + Fr - q7)(4-2+ z) nex (4 + I - qz)(4 -(4 + z))
Zei Zei

z(r
. )= (r

. )=



Market CLEAMNG :

CREDIT :& =

S va = 0

Securin: = 0
q= 1

CE oranmor : [14 ,
8

,
0) ,

14
,
0

,

81].

/Elaborate :
How much each consumer Borrows ? How more

units of the sewrth the Brus ? AnLoopy "Second Short"
?)
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